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Exam. Center
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Entrance Test — 2019
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- Class -5

Senih, HAHSSN HOSN JOITO eI
Telugu, Mathematics and Enwronmental Science

Srdden / Instructions :

1. Swodor OMR Qwod® Oy D3680e0 &S 300085 IS’ AoHSB.
Fill your details with ball point pen in the OMR Sheet.

2. @mH@sn Code No. OMR Qtns™ Ho208d KES* JodSB..
Write the Question Paper Code No. in the box given in the OMR Sheet.

3. OMR & Dostod dewisod dodirsvens)s' Invigilator Sess FosSBw.
Consult the Invigilator for any doubts while filling the OMR Sheet.-

4. 'GSIDJ Sdrgrdines Q089S OMR HE50E* w9 O Black/Blue Point Pen oo Qod58%.
ETDSS0S* s oo .
Fill the answers in the given O in the OMR Sheet with Black/Bluc Point Pen. Do not write
answers on the question paper.

5. (38 PHS vt Sy,
Each question carries One mark. )

6. BT o () BOHEDB, swo ST Dabor Sugd HHK dirgdo @Tabards PBabdo
Bcird, |
If answer is not known to you of any question, don’t waste time and proceed to the next
question.

7. Srddel ermr S0 adTwe | aod.
Read the Instructions carefully and answer.
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(Beniid)
(Telugu)

. (8oB TS HA Jrgowdin Srdod Do

Q. Booklet
Code

(1) 3% 2) Sz
(3) Srerdadd (4) on
2. BwQ) SHUTh SFEID. |
(1) Beoged 2) 8ok
(3) So&r%0d% 4) 22%E
3. Srands® HEFD 5599
(1) e 509 ‘ 2) 88 5299
(3) T 509 @

Q0B 599

4. BEr Sobioo Sy Ao ad fldodad.

(1) - SopEs@sen
3) .88

@)

(4)

HBdoTen .

oo

5. “bows D a0, 1808 arfo B! Sty wro SrEEy H%”

©d JeorhHo BdHk TSiohdy v Dok

35K

(1) 38 @
(3) B6% @) 28
6. B8 S0BHK AAES DoarSo
(1) @eooeb0k (2) Eodoks
(3) S0k 4) S
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Code

7. Beod Jod&Tr ot JukiId
(1) So&s (2) ©e
3) g 4) &30
8. SR 55&63‘;501@3
Sor 50570788 Sooeren - & FEgOS 08 D 5?330”?
(1) Seopren | (2) Sdogoe
() Soeo - | " (4) doden
9. Sord BoHOS &-Snyorrs
FAAB - EEWES0YIrE - 2§ 8 Sardo Sorbes BIE BoBID?
(1) ZBom o (2) &8s
() aw , (4) Sy
10. S00D Do &&)T°68 wosr 510D 2KHK>B0B.
& TEgS0S" ‘080" eHERE ego
(1) #eso | (2) ey
() &8 @) Sos5y
11. Bendodhe Srody Serdsen ﬁ“@@zﬁ;{)’ - &3 édgﬁnwg)g 230
1) BETEHS® D)o Srmren 35008 "
E3; c: i? _;l 3 e BgTHS )0 TS0 8008
BETHS V)0 500D BDod : =
12, Doos Doy §¥5o0 B0 Boao@;sjga&?
1) s
M © ) Howso
3) &
£ « 555 (@) rincs
RSD T/E
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Code D

13, “§” %008 “¢" S6% Ko wgTroly d800erE?
(1) &gogsoren (2) wgosrgoen

(3) docdwsEoen '(4) Trenen

14 Srrd§ AIm GHTEI Qe wolrd.
(1) sz5d (2) ;qusva
(3) ek (4) srgso)

15, 86 BEmm Sotnod, & T¥gos* dhmo D67
(1) €8 | (2) s
(3) &ot0od (4) B

16. %6203 1950 5 HoSSHSos® Sr8) 25 BHS El)orTd. “ElySrrd” wod
(1) S8e80m8 ' Q) apT
(3) Srwd | @) Soy

17. 238 emrdomr 5@ Sreosod.

D6 BBt BHBEHE
(1) &350 | Q) F&s
(3) dz=sn (4) =830

18. ®Hen Dhoho DL sk ©oldl BO2OE,
b8 A3 560 ©go D37

(1) 3nset - 2) D568
(3) Sagget . @) @oss Sn0d
RSD TE | - V-105

C} Scanned with OKEN Scanner



Q. Booklet
Code D

19. eben sBITOD R ol . |
(1) SSondewd (2) mossowo
3) dosde (4) dgsw
20. (808 TEEOS’ ©ISrHE (B EOAI T8O
(1) 3RO DIS> Sd JEF0008
2) 33D 2IS> S7H0B. JEF000s
(3) DD BAS® Erdo S AEFoN0s
(4) SRD IS Worddro §ho JEFood
21, 8D, orer KB8 SH™ ©d Sord &ob.
“©8” ¥IDHE0 st 38 Bokdiod?
(1) DIdeo (2) dggTS0
(3) 8% ' ‘ (4) Sogusgo
22. 2BADF0NS HAY BOCHED TEgen |
(1) D085 asegew | (2) :_69,5_5“265'“0@ ;3‘5“’503
(3) 2;53‘6551’@@. TEge0 | (4) FIAgSsroY Tsrgen
23. Doen Deos” ok W)Iro. BairoSE)8?
& TEgoS® BTG Do,
(1) 2o : (2) Qo&ase
(3) Fydro | 4) Deoss
24, g FEo BEYBF)B. & TEo SIS BohSE?
(1) grésoo (2) $DAgSs w0
(3) HgdrdSsreo (4) ééc,éggo
E ¢
RSD T/ | 6-D [V-105
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25, @S dEFT0 DI IS T8 Lo B78.

A Ans SIS vgo.

(1) ©ob 2) &S
(3) S5y 4) wds

26. 808 Smod® dowodo B Har) MHyood.
(1) & | (2) @
3) 3 o (4) 239

27, “DE55n" B0, BFvSEso |
(1) 2& ' Q) ode
(3) Sdzen | @ 28

28. 20838 Dowodo B HAo .
(1) Se0d | . | (2) 888
(3) @by o | @) &Y

29. &doren §QSorm BEEIS Qo BASTO?
(1) »SEE o 2) 2586
(3) FHBowdd (4) 3%

30. o850 B RECISE: Jlep I 800 Sogiges” 20 epd?

(1) =& 2) 25y
(3) ©ogEo | (4) wHoggo
RSD T/E 7-D V-105

C} Scanned with OKEN Scanner



. Booklet [. |
Q Code D

(#380)
(Mathematics)
3. & Bdn B G, Sedrsin?
(1) 6850550 (2) o830
(3) s | 4) o
This figure shows the network of | |
(1) Cuboid - (2) Cube
(3) Cylinder | (4) - Cone
32. 78 515 =
7kg 515g. = | g.
(1) 70015 ) | 7000515
- (3) 70515 | @ 7s1s
33. 7050 . = |
(1) 708¢r. 50@r. ' (2) 78 500 .
(3) 78 0. | o 4) 70 8. 500
7050 g. = | '
(1) 70k.g.50g. 2) 7 k-g- 500 g.
(3) 7kg50g 4) 70k.g 500 g.
RSD T/E .~ 8-D
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34, 75 8. 926 . + 24 8. 102 v, =

(1) 101 & 28 ¢ @) 10182800
(3) 1008 280, @) 1008 28
75kg 926 g +24kg 102 g =
(1) 10lkg.28g. ~ (2) 101 k.g. 280 g.
(3) 100k.g. 280g. | (4) 100k.g. 28 g.
35. 12 8. 325 20.6. = 2.8
12 1.325 m.l. =  ml
(1) 12000325 R @) 12325
(3) 120325 - 4) 1200325

36. 27 6. 375 20.8. — 16 &. 450 20.9. =
(1) 1186, 925208, (2) 10 &: 925 2.6,

(3) 98. 925 X.8. @) 128. 925 2.0,
271375 m.1. 16 1. 450 m.l. = -
(1) 111.925m.l. (2) 101.925m.l.

@) 9.925ml @) 121,925 m.l.

37. a8 99 HoddBodt woh Serw dopyg

Number of days in a leap year-is

(1) 365 @) 52
(3) 366 4) 24
RSD T/E 9-D V-105
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38, & KBCSTEENS' Ko PHcHENDE 10 AT

(1) 3Ho. 453.
2) 3&o. 35
(3) 3#o. 259.
@) 7 Ho. 202.

Q. Booklet
Code

“ < Qo&?
o S0 HrDoB HB0AN0 O

What is the time after 10 minutes of the clock showing the time now:

(1) 3 hr. 45 min.
(2) 3 hr.35min.
(3) 3 hr. 25 min.
(4) 7 hr. 20 min.

39. Her065* 28 BHS o Erdody

A :6320

In the figure, the fraction that represents the shaded part is

7
mE
n
(1) g 2) —Z—
3) g 4y g
RSD T/E 10-D V-105
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40.

13 & Kead Disioé‘ JrQoB DA

Q. Booklet
Code D

How to represent 13 by using tally marks?

(1) JIHmi
3) W Il

(2) W
(4) i 11

41.

Q) HLo @), BotpFod
(1) 39
(2) 42
3) 21
4) 36

Perimeter of the given figure is
(1) 39
2) 42
3) 21
4) 36

6 .

3 .
6 .

9 .|
6 2.

12 2.

. Im.

6 m.

3 m.
"6 m.

9 m.

6 m.

12 m.

42.

1619, 1719, 1819, 1919, 2

(1) 2019
2) 1519
3) 1920

4) 2020

RSD T/E

11-D | V-105
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2 BDo
13, osw, 855 B8 58 DSoes HEES* asgpgon. TOGET SO0 Fe

0) D087
g% | e 2.8 5365 5%) 3080
Doy 3o 3sén B
l. (ORNWV &, 110 2
2. 84ed 8. 125 3
0o :
(1) & 220 2) & 375
3) & 575 4) &> 595

Q. Booklet

Code IE

WSO wdo

The details of tickets bought by Ramu and Kiran are glven in the table. How much

amount both have to pay?

S. No. Name Cost of No. of tickets " Total
one ticket bought cost,
1. Ramu Rs: 110 2
2 Kiran Rs. 125 3
| Total ?
(1) Rs. 220
(2) Rs.375
(3) Rs. 575
(4) Rs. 595
RSD T/E 12-D
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Code

44. (808 9S° GoBSOVS Somg JoB?

Find the missing number in the blank.

{ i { I l {
12 14 16 (] 20 22

(1) 15 | 2) 17 (3) 18 @) 19
45. 80 HoS® God @zhere .éogpg Jods?

Find the number of triangles in the given figure.

(1 1 - @ 3 B 4 4) >
46. 153 & dorest (wiorods®) |Teodm ‘ . .

(1) of So0d : @) ¥ S0 5B

(3) =¥ S0 SrgSurdd (4) 28 So& Soomedd

Write 153 in words ) ‘

(1) One hundred ’ (2) One hundred and fifty

(3) One hundred and fifty three (4) One hundred and three
47. 593 & DB (@ odrr

Expand 593

(1) 50+90+3 ' (2) 5x100+9x10+3x1

(3) 500+9+3 4 5+9+3
RSD T/E ' 13-D V-105
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Code

673 &* (i HdS ©08 A Dwod Jod?

48.
In 673, what is the place value of underlined digit? .
(1) 600 (2) 700 (3). 70 )
49. 2,1, 7 oRd&@rhod (@D 08 DL Sopg 267
What is the smallest number that can be written by using 2, 1,77
(1) 217 @) 271 3) 172 4) 127
S50 §0b Sopgoss 68 HroEsos”® ¥idod.
Arrange the following numbers in ascending order.
995, 908, 973, 989 .
(I) 995, 908, 973, 989 (2). 973, 995, 908, 989
(3) 989, 908, 995, 973 (4 908, 973, 989, 995
51. 3% ég Bodode Errahe S 2, BohSode rarche e 2 G0, @SS &)
S0y Jod?
(1) &»~. 2002 (2) & 4002
(3) &~ 4004 (4) &= 4400
Siva has 2 two thousand and 2 two hundred rupee notes. How much money does he
have? '
(1) Rs. 2002 (2) Rs. 4002
(3) Rs. 4004 "~ (4) Rs. 4400 .
52. g Swey AECSTC0S® 4 Dl &ol, KEDS ddodreo
(1) 4 3daren _ A (2) 40 ddoren
(3) 20 ddoaren (4) 2 ddoren
How many minutes would have passed when the long hand stays at 4 in a watch?
(1) 4 minutes (2) 40 minutes
(3) 20 minutes ' (4) 2 minutes
RSD T/E ' [4-D V-105

CX Scanned with OKEN Scanner



Q. Booklet -
Code D

53, 35E Sordose dowgl. & wEL HSodt T, & Hdo 50S* 6 5005 & Hodo Fdod’

8 & am)om. 35:6%?

[ am a three digit number. The digit in my units place is 7, the digit in my tens place is 6
and the digit in my hundreds place is 8. Who am I?

(1) 786 (2) 768 (3) 867 (4) 876
54, 200285)S* FHODS JSsw DITen §ods KJééée’i‘ QBTTOD. HEIEB 508000 DL 0B
OI0BF” Q) 20T JEs e Q&bém 08087 Bendod.
330 220m&d Q08
& - . Dessren HEsTen
©I005” 46 37
LS 27 23
In Olympics medal score sheet is given below. Observe the table and write how many
more Gold medals America acquired than Britain?
Name of the Gold Silver
Country Medals Medals
America 46 37
Britain 27 23
(1) 46 ) 27
(3) 14 @ 19
55. 3o Bdo & oo YJgo Jv & 97 ﬁoé&. QY T o &, 114 ol HIJFo
3o Jod ndRoA?
(1) &> 14 2) & 19
(3) &= 17 (4) & 18
The price of a colouring book was RS. 97 a month ago. Now it is Rs. 114. How much
increase in the price? .
(1) Rs.l4 (2) Rs. 19
(3) Rs. 17 (4) Rs. 18
RSD T/E 15-D | V-1035
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Code D

56, o dimod® amer 72683, wotk 38416 508 Hloten ©a3T,
The population of a town is 72683. If there are 38416 males, find the

in the town.

(1) 34267 (2) 34627
(3) 32467 4) 36427

number of femaleg

57. 61 x 74 ogdn EFS3E0S* Bod HEES 52008 dopgdd Edorodo.

In the given table, find the missing number when we find the product 61 x 74

60 1
4200 70 | 70
? 4 4
(1) 2400 ' Q@ 24
3) 240 | o (4) 280

58. (808 TRS® H0S0K8E A&?

~ Which one is correct? :
(1) 5x6=5x5 . (@) 6x7=7%8
(3) 5%x6=6%x5 4 7x7=8x7

59. e Eodn b8 &r. 14 ®ond 14 Eodne 8t dog?

(1) &r. 28 ' (2 & 206
(3) &». 186 4) &r. 196
Cost of one pen is Rs. 14. The cost of 14 pens is

(1). Rs. 28 . + (2) Rs.206
(3) Rs. 186 (4) Rs. 196

60. 54 +[7]=9 S0 7 HodySoth SodSERS Homg Jo8? |
What is the number that should be replaced in ? mark in 54 +[?] =9
(1 9 2) 27 @3) 6 4) 18

RSD T/E 16-D . V-105
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61. 487 & 16 B 27 Sy errHesL Dod?

What is the quotient when we divide 487 by 16?

(2)
1 @) 30

98}

(1
3)

(9]

Q. Booklet
Code D

13

62. 532 Db YIS0 T dam ko SErSom Houm w8 Y, v ek SO)S HISTY?
If 532 library books are distributed equally among 7 schools then how many books will

each school get? ,
() 76 . )
3) 74 (4)

66
54

63. JIFS e BoNES08

bokeodo (8r88)

(1) esdo | @)
() wrisso (4) SgsEeso (B234)
Equal Distribution is called | ' |
(1) Multiplication ' _ (2) ‘Addition
(3) Division . - (4) Subtraction
64. 18.. = oo
1 km. = m. |
(1) 100 - (2) 1000
(3) 10 , 4) 500

65. 20 =30.50. FGS Ko ASH) S08§ 08 IAN0BA wAEB &l M VHKoH?

How many paper strips of 20 cm length make a metre?

(1) 100 (2) 50
(3) 25 4) 5
RSD T/E 17-D V-105
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0 Code D

(Pddo Dagém)

(Environmental Science)

66, DENS' 8 d0dw sTodens” Goddss
(1) RQeo, Botw, K08 Sodaso Eosd

(2) o0, S8 S0 REVE>E
3) =g, Qodo B00650 Voo
(4) @08 50050 w0 SrSH
Roof with cement concrete contains’
(1) Steel, cement, sand and gravel
(2) Steel, mud and brick powder |

(3) Sand, lime and cement |

(4) Sand and lime only

67. g 2ES° Rnsen S8 HF Jddooo
(2) 10 &22en

(1) 158eren
(3) 30 &zren (4) 20 &ferex
Time requiréd to block bricks with firewood in a klin is- -
(1) 15 days | ' (@) 10days
(3) 30days | (4) 20 days
RSD T/E 18D V-105
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Code

68. B EEOT TIS Ao & Fosros® KoRoBSwH).

(1) ooy IEFrso Jo Fosren

2) S8Fdo B Fosres

(3) ©BE 3&Frdo Ko Fozren

(4) S5 rosren

Walls made by bamboo sticks can be seen in the areas of

(1) Low rain-fall |

2) No rain-fall

(3) Heavy rain-fall

(4) Polar regions
69. $rR BT seohto BIE SEESHE08

(1) 5889 Q) =K

(B) GosrBEs @) oo

Repeated heating of oil causes

(1) Hepatitis | (2) Cancer

(3) Diabetes (4) Ulcer |
70. 28300 So5rbet TEB ErEmadd

(1) s885°0% | (2) 2omr$s0D

(3) Boks o (4) &St

Vegetable which can not be used in making Orugulu, is

'( 1) Bitter gourd (2) Potato

(3) Lady’s finger (4) Tomato

RSD T/E 19-D V-105
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7. & Bo dErod XY So5rES* GHIFATD

(1) argtaD (IsoH) (2) 26

(3) 8% (4) 23
Leaves of these plants are used in making plates

(1) Butea (2) Banyan

(3) Teak (4) All the above

72. 508 gos® ‘TIMS' & Sarer $03S° &HRPARTIE.

(1) ep*defaoﬁo'aa_é‘)lgw

[vd

- (2) ©oB0B5 THE W Sarer B0

O

(3) =2O&AHS AoEBY)

(4) 25

‘TIMS’ are used in this organisation in our state.

(1) Indian Railways | |

(2) . Andhra Pradesh _State Road Transporf Corporaﬁon
(3) Indian Airlines

(4) All the above

RSD T/E | 20-D | V-105
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73. @08 SO Somosod & 8od 8D BB édaéé’éaoe?‘ ©328)08.
A) D598 E8af e
B) Sgdrofo Basne
C) DY odo
D) @ER) Efofrsos
. In view of the Ancient History arrange the following in correct / proper. order.
A) I_nventién of fire
B) Agricultural' farming |
@) * Animal rearing
D) Invehtion of wheel
() D, C B, A _.(2).B,C,D,A
3 A, B, C,D (4).- B, A C D

74. ‘Sota0w0’S® Srdyedd & Bod TES® 288 s°8n0 .
(1) e | | .8 (2) 9
(3) aw srsdo 4) w8d

One of the following is not a cause for the changes in a family

(1) Birth ' @ Marriage
(3) ' House shifting o (4) Transfer
RSD T/E | 21-D V-105
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Code D

75. Db [B&erdn denden’ IOy Htnowo.
A) aé.l Bodwoo
B)  &398 Sodwowo
C) 8 sodwowo

(1) ASrgd (2) ASosaso C -
(3) Bsrgdy | (4) Aswo0s» B

This type of family makes children to learn the ‘Values of adjustment’.
A)" Small family '

B) Joint family

C) Big family

(1) Aonly . - (2) AandC
- (3) Bonly | 4) AandB

76. &% ﬁgﬁa’agdwo DAB>Ko :6_&5:‘6 oo edsre HOS0

(1) @88 deogs DAR>Ko |

Q) 858 aﬂédéy@’:& |
(3) 3 Dend 8o

(@) Ssatra) St Sakdo
A positive result of high usage of home appliances is
(1) Consumptibn of ﬁore electricity |
(2) Less physical labour

"~ (3) Knowing the value of work

(4) Time adjustment

RSD T/E 22-D | V-105
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77. wbBeod’ Fhe Fodo §ho & 9gsR) 56500m0.
(1) Ao
2) T
(3) DOIT® depSSao
(4) _argosrid Desg
This book should be observed for the measurements of the courts in play ground.

(1) Mathematics
(2) Graph
3) Environmental Science

(4) Physical Education

78. §Q) & S0 ‘?o(ilé’)oﬁ (’i)és.)’es‘.dorlbgwm 3&3ES0 (3 Sood)

(15 D3, €BoE, Hify | ‘
(2) esBoE, KD, ‘ézﬁt)
(3) @O, Hif), I

. (4) 5D, JW), XTeleY-
The o'rder of coloured lights in ‘Signalling 'Syste'm’ on some roads (from top)
(1) ‘Red, Orange, Green
(2) Orange, Red, Green '
(3) Orange, Green, Red

(4) Red, Green, Orange

RSD T/E 23-D V—105'
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Q. Booklet D

Code
79. & (808 TR BEDBSBod.
LA DETES wdob X) Dowds dpof

B) &Sm0 $8¥0 Y) §88

O Edos 7) oo

Match the following.

A) Viswanathan Anand X) Weight Lifting

B) Karanam Malleswari | - Y) Cricket |

C) Mithali Raj - Z) Chess

() A-Z, BX, C-Y 2) A-X, B-Z, C-Y

3) A-Y, B-Z, CX (4) B-Y, A-Z, CX
80. &t &6 BEYO DS &) Sre

(1) ethoso : - (2) &I

(3) Sews (4) Tosgo -

The corner between the East and the North is ‘

(1) South-east 2) North-eést

(3) South-west - (4) North-west
Bl. o TS HL0S* 0nSwAS & K8 ‘@' &R cﬁ.::'i)'é_o;o&.

(1) e (2) =&

(3) b | 4) BEY

The symbol ‘@’ given on a village map indicates

(1) Well (2) School

(3) Temple (4) Tank
RSD T/E 24-D V-105
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Q. Booklet
Code D

§2. ‘ROz 08 DFpdino’ BatirdoBbhds & Berd TLSSHG0 B,

(1) 8y (2) Hoobard
(3) seeSggo (4) D8 Foso
While travelling from ‘Nellore’ (o “Visakhapatnam?’ there is no need to cross this district.
(1) Krishna . _ 2) Guntur
(3) Ananthapur | (4)  West Godavari
83. TUS 5 FE% S8y aye Sokro.
(1), > D& Joo 2) Howrond svcvgogsoo
B) s &H (4) wokSzé oo |
An application for ‘Ration Card” should be given here. |
(1) Mee Seva Centre ~(2) Panchayathi Office
(3) Ration Shop " (4) Anganwadi Centre
84. ‘28R BT~ Ko EoRG)T
(1) oy =) (2) T &
(3) #Ssrow (4) DoDocS
The inventor of Iris Camera’ |
(1) Nimmi Jones : (2) - San Jones
(3) Sansui ' : ' (4)  Mimijoy
85. 28 558 Srordym B @& M8 HO 008 3008 & 808 S0 P Dadrgd
If a person suddenly falls ill severely this number should be dailed first
(1) 100 (2) 104
3) 108 | (4) 101
RSD T/E 25-D ' V-105

CX Scanned with OKEN Scanner
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Code D

86. ‘Sozfo Bewd & RerS® o

(1) ©s¥o (2) 8&mes
B) & 4) §sso%o
The ‘Kambham Tank’ is in this district.
(1) Prakasam (2) Kurnool
(3) Kiishna : : (4) Srikakulam

87. ‘adr)S FEESH &) 5&5’5 D8
(1) SRS 86 (2) Kodhe Bend
(3) ooy Bend @) @iy Sesid
The other name of the ‘Osman Sagar’ is |
(1) Hussian Sagér " (2) Gandipet Tank |
(3) . Ramappa Tank . (4) Brahmayya Tank

88. (808 RBcAS 20HOS” wEE 20HELK ES0EI BYeo EOA wolwobd.
(1) 5 | (2) 29
(3) o8 | @) s

One of the following animals has invisible ears.

(1) Dog (2) Tiger
(3) Pig (4) Snake
RSD T/E 26-D | V-105
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§9. do&S’EHY TR £Jho S0PS ©Ero
(1) e Do
(2) DGO a8 S0
(3) S 598 Godio
(4) L% 88520689 DYhew $OA &odero
The main characteristic feature of Viviparous animals iS '
(1) laying eggs
(2) giving birth to babies
(3) having feathers

(4) having invisible ears

90. oo & ééé ) Soh a*oabc:‘*ge; SABr8eS” GHREATE
(1) Sogagen @ w80
(3) &ogren | (4) Ay
The organ of an animal used in making musical instruments is
(1) Hair (2) Skin
(3) - Teeth | (4) Nail

9. Dot KoHS® T8 DEOS I %038 080 Do Ropg WSesHm

Number of E]ephénts along with their babies in a herd may be

(1) 12-14 @) 15-17
(3) 10-12 (4) 8-10
RSD T/E 27-D Y=103
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92. (TEre BewPew Seoado 5508 b s°8eo 5.

(1) deorchHs Tt ddogso (2) =mod &ob H008 les

(3) BDHYS' ESoden - (4) x5 558
This is not a reason for the pollution of Tanks in Villages.

(1) Immersion of Ganesh Idols (2) Sewage water from houses

(3)  The living organisms in tank (4)‘ Plastic covers

93. W6 B85 domypsn Bk, EFFgEm
(1) =58 3m) doho@oisto
2) &58 SEsos amyod Dhdo
() FED K, Seren S YBEE0
@) D5y | |
The idea behind the construction of ‘Speed breaker” is
(1) to control the speed of vehicles ‘
(2) to suffer the vehiclé riders
(3) to construct roads with ups and downs

- (4) all the above

94. 'O dpHo’ & YeagflErs SHSm GIHB.

(1) o@dso ' (2) &%HIs
(3) S8 - ' (4) o8eaa
‘Saranath Sthupa’ is near this holy city.
(1) Rameswaram (2) Tirupathi
(3) Kedaranath =~ = - (4) Varanasi
RSD T/E 28-D V-105
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95. ‘oo D’as:ﬁgy BT TR0B2E5H

(1) o o

(3) 58D @) ot

The Maratha Kingdom was established by
(1) Akbar (2) Shivaji

(3‘) Rudramadevi (4) Chandraguptha

96. $od BTI8 BoBS HSoow 28 733
(1) @8 oegls
2) @TIBRD. Soro
(3) @.20.38. FDHTES
4) . 390 v
Renowned Omithologist of India is
(1) Dr. S. Radhakrishnan
(2) Dr. APJ.A. Kalam
(-3) Dr. M.S. Swaminathan
(4) Dr. Salim Ali

97. B3BKo $BS> DBYOBIB
(1) 50K 8384 . (2) o8 8364 |
(3) Sosg B34 ' @) w6 Sob0mn Sodg 3ad8ren
Hive of the honey bees are build by
(.1) Male bees
(2) Female bees

(3) Sterile bees
(4) Both female and sterile bees

RSD T/E 29-D V-105
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98. =08 wer DEHHE0H
(1) &> (2) Koo
(3) By (4) A8 BOGSrd 308,
Chrysanthemum grows as
(1) Shrub (2) Herb
(3) Tree ‘ (4) Free-floating plant
99. JEew wHIH SoHe’ &odirds s s Sge5sg0
(1) =osDS E 2) §6S (Hgso80)
(3) 388srond , (4) 25008
Leaves are green in colour due to the presence of a pigment called
(1) Xanthophyll (2) Chlorophyll
(3) Carotenoids © (4) Phycobilins
100. @200 @8 g HAyo
(1) erzd (2) @O
(3) Shhow - () 55336
The largest flower in the world is |
(1) Tagetus ' (2) Dahlia '
(3) Rafflesia ' : (4) Sun flower
0ooaa
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